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LEXEL PUZZLE T12C

SRR L27tILIXXIL T12C FiEk
E- T ET O—>—F—VAR S M L Mm | MMID | MHID | MH
A R [ BTHE [O—5—Fr— A5 £& (m) 4,700 | 5,050 | 5,300 | 5,050 | 5,050 | 5,050 | 5,050
BX B T—hEE |71V —O0—TAH & 210 (mm) 1,700 | 1,850 | 1,950 | 1,850 | 1,850 | 1,850 | 1,850
£ B i £ T ETT|0.2kWT L—F P —RE-5 Ej‘ﬁ% o 1F 2,100 | 2,100 | 2,100 | 1,900 | 2,100 | 2,100 | 2,100
BEME | MTRE [3KWIL—FMET—RE-F %;—E (mrlna) B1 1,550 | 1,550 | 1,550 | 1,550 | 1,750 | 2,100 | 2,100
T—RREE [0.0KWTL—FFr—FE=% B2 1,550 | 1,550 | 1,550 | 1,550 | 1,750 | 1,550 | 2,100
T E AC200/220V =18 50/60Hz  {3.7KW (8.0kVA) 58 (ke) 1,700 | 2,000 | 2,300 | 2,000 | 2,000 | 2,000 | 2,000
"™ |AC100V E48 50/60Hz  [1.0kW (1.0kVA) EvhES:L (mm)Y| 5,970 | 6,320 | 6,570 | 6,320 | 6,320 | 6,320 | 6,320
B ZyFNRILZE A EEEED:(t (m) | 5,395 | 5,745 | 5,995 | 5745 | 5,745 | 5,745 | 5,745
28— 46 | 3B- /A | 4&-10A 3¢ g | EFOBP (m) | 2,350 | 2,450 | 2,650 | 2,450 | 2,450 | 2,450 | 2,450
azyh| 5@—134 | 6E-16& | /#-19& 5 o (€ B BB (m) | Pt 250 Poo& - 250 | o 250| P 250 Pl 250 | P 250 Pt 250
8E—225 = /7_5 £y NES Hp(mm)%| 4,150 | 4,150 | 4,150 | 4,150 | 4,550 | 4,700 | 5,250
HAERICBVARYZICHELLTE BEVEDLELLES W, B AE S Ht (mm) 2,200 | 2,200 | 2,200 | 2,000 [ 2,200 [ 2,200 | 2,200
XN SRR ENDE T ENE00MME L R0 ET, # rBEEsE :Hg(mm) | 1,800 | 1,800 | 1,800 | 1,800 | 1,800 | 1,800 | 1,800
KPR (BETE) DIBaE. By hEENAAZ AN ET, (Y iS5 s & Hkm)%| 5950 | 5950 | 5950 | 5,950 | 6,350 | 6,500 | 7,050
MOTENTEICHEDET) hEE 5/ B(k/g) 2,150/4,5001 2,600/5,0002,900/5,600 2,600/5,000 2,600/5,000 | 2,600/5,000 | 2,600/5,000
ety . = . § C/D(ke/m) _|1,850/3,500]2,000/3,800|2,200/4,200{ 2,000/3,800{ 2.000/3.800 | 2,000/3,800 | 2,000/3,800
MBI EIRE/ 5 — > ORI TY Bl L B2OR AR HFS , , .20012,000/3.800 | 2,000/3,8001 2,000/3,8001 2.000/3,
f;f;lfﬁ ~ O RARMERS e gy AEIPER AT () [ 12/12 | 12/12 | 12/12 | 12/12 | 12/12 | 12/12 | 12/12
B o |BIIFELE /18] (B0) [ 12~145/12| T2~147/12| 12~149/12  12~147/12 12~185/12] 12~157/12 | 12~ 170/12
) B2 /&) (#2) [12~145/12{12~147/1212~149/12112~147/12|12~155/12 [12~157/12 [ 12~170/12
XBIORAEL B B20SBELECRET BT LI TEE A,
LotEILIXXIL T12C £ERmE
HSEREOTHG EBEMOTEICRDET,
7,800 CEBREIE:W-+200)
100 7,600 (£ ME: W) 100 6,320(EvhRa:L)
(Eﬂw 450 (*?‘Zﬂimﬁ) 250 5,745 (AR <L 1) 325
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IHI LEXEL PUZZLE 22

R Lo2EIVIRXIV 22 ~HiEsR
WERE |91V —0O0-—TAR S M L Mm MH
5 = #E#ET (O—5—Fz—VAR £ (mm) 4,700 5,050 5,300 5,050 5,050
P HTERE [O—5—Fz—VAR 218 (mm) 1,700 1,850 1,950 1,850 1,850
BX 2 T—KhEE [74V—O0—TAR B 2F 2,100 2,100 2,100 1,550 2,100
x B W ERE [2.QKWIL—FHFT—RE-% AIHEEE £ (mn) 1F 2,100 2,100 2,100 1,900 2,100
e L ERETT [0.2KWIL—F[FP—RE-% # T = B1 1,550 1,550 1,550 1,550 2,100
= WTRE [37KWIL—FFTP—RE-% B2 1,800 1,800 1,800 1,550 2,100
T—hEE [0.0KWIL—FRHET—RE=F 55 (ke) 1,700 2,000 2,300 2,000 2,000
T R AC200/220V =1 50/60Hz | 3.7KW (8.0kVA) Ev b &L (mm) 4,900 5,250 5,500 5,250 5,250
= " [ACT00V #18 50/60Hz  [1.0kW(1.0kVA) BAN—ZR0E: Lt (mm) 5,400 5,750 6,000 5,750 5,750
BRIEAE FyFINRILFEA R - = B oL FE:P (mm) 2,300 2,400 2,500 2,400 2,400
2E— 68 3E-108 | 4E-14B ? E E v b iEW (mm) [PxEE+400]PxE#+400 | Px:E#+400|Px:&E#+400| Px:E4+400
d1zyhk| 5&—-18& 6E—22&8 | 7E-26& % = | E v b & Z:Hp(mm) 3,820 3,820 3,820 3,570 4,670
8E—305 B K = oiHt (mx| 4,450 4,450 4,450 3,700 4,450
KHETRICED AKBBEFYEBDHEADNTEINET, b ESES Hgmm*| 3,490 3,490 3,490 3,290 3,490
SARIC AN AN I EE L The BN ADEC N, W& B = Hkm| 7310 | 7310 | 7310 | 6.860 | 8160
SO A BB OEREL I — /N —EEBET 218 KEIDORTEN A/B(ke) 850,/1,700 | 1,000,/2,000 | 1,150,/2,300 | 1,000,/2,000 | 1,000,/2,000
OOME D& EHE C/Dlke) 850,/1.700 | 1,000,/2.000 | 1.150,/2.300 | 1,000,/2.000 | 1.000,/2.000
XEET A SO S A C LD REIDOE TEARANET DT, E/F(ke) 2.500/1.950 | 2,800./2.250 | 3,100./2,550 | 2,800./2,250 | 2,800./2,250
BEWEDEZEW, 2F Mt /14 (7)) |18~137/18]18~138/18|18~149/18 | 18~132/18[18~153/18
1€ 8| 1F[ME /&) (75) 18/18 18/18 18/18 18/18 18/18
K | B1[H /i&ih] (7)) [18~141/18|18~142/18(18~154/18(18~138/18|18~167/18
LYEILICZIL 22 £ HE B2 Tt /i&#] (15) [16~176/18] 18~177/18 [ 18~192/18 | 18~160/18 | 18~207/18

KHSEREDOYEF KBEMOTEICRDET,

7,900 CEBLER : W+300) (500) 5250 (Ev hRE 1 L) 480 (120)
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ITHI

LEXEL PUZZLE 32

IREELR LotIVIRXIL 32 Tk
WERE |74V —O0—"TAK S M L M8 MH
5 = [CEEEF [O—5—Fz—vh= E5 () 4,700 5,050 5,300 5,050 5,050
P HTERE [O—5—Fz—VAR 218 (mm) 1,700 1,850 1,950 1,850 1,850
X B T—KhEE [74V—O0—TAR X & 3F 2,100 2,100 2,100 2,100 2,100
x B i ERE [22kWIL—FHEP—RE-5 ﬂlﬁ-\bg 2F 1,550 1,550 1,550 1,550 2,100
iy | CLET [0MWTL—FEFP—FE=5| |57 | 2 m) 1F 2,100 2,100 2,100 2,100 2,100
= HTEE [37TKWIL—F{F7—RE—% B1 1,550 1,550 1,550 1,550 2,100
T—hFE [0.0KWIL—FFT—RE-% B2 1,800 1,800 1,800 1,550 2,100
T R AC200/220V =48 50/60Hz [ 3.7KW(8.0kVA) == (ke) 1,700 2,000 2,300 2,000 2,000
= "R TACI00V B 50/60Hz | 1.0kW (1.0kVA) Ev k&=L (m| 4900 5,250 5,500 5,250 5,250
BRIEAE Sy FIRILIFER T BEAN—ZRGE: Lt (mm) 5,600 5,950 6,200 5,950 5,950
2E— 858 3E—-138 | 4&E—-18& s = o D BEP (mm) 2,300 2,400 2,500 2,400 2,400
d1zyh| 5&-23& 6E—288 | 7&-33& ? ; E v b iEW (mm) |PxE+400|Px:E%+400|PxE#+400|PxiE£i+400|PxE#+400
8E—38A & 2|2y bk E S Hpm) | 3,820 3,820 3,820 3,570 4,670
KERANBEBIZ. Y1 TICEDERDET, B K & Ht (mx| 6,110 6,110 6,110 6,110 6,660
HETRICED AEBERENERZBADNTENET Ele, i S S  Hymk| 4,410 4,410 4,410 4,410 4,960
BITBUCHG LI ARy 7628 VWE T 0T, FfiE BBV bE B & B =:Hk@mx| 8,230 8,230 8,230 7,980 9,630
FEEn, A/B(ke) 1,700,/3,400{ 1,850,/°3,700 | 2,050,/4,100 | 1,850,/3,700| 1,850,/°3,700
KRRV R LM EEL T, BEVEDE RN, fEHE C/D(ke) 1.700,/3.400[1,850,73.700 2.050,74.100| 1,850.73.700 |1.850,73.700
SCEE N RSB AR EIDE T EA200mE< AN FT, E/F(ke) 2,500./1,9502,800/2,250 ] 3,100,/2,550 | 2,800,/2,250| 2,800,/ 2,250
3F [t /H%im] (7) | 18~159/18 | 18~160/18 | 18~174/18 | 18~156/18 | 18~183/18
# g | 2EFEL iR (89) [18~137/18 | 18~138/18 | 18~149/18 [ 18~~134/18 18~~153/18
LoEILICZ)L 32 SERE it o [IFIwE /@] () | 18/18 18/18 18/18 18/18 18/18
XEEREO L. EEMEOT AR ET : B[/ 1&##h] (#2) | 18~141/18 | 18~142/18 | 18~154/18 | 18~138/18 | 18~167/18
KEZREOTER KEMBD TR ° B2yt /1&#nh] (#) |18~176/18 | 18~177/18 [ 18~192/18 | 18~169/18 | 18~207/18
7,900 (EBBEE : W-+300) 500 5250 (Ev hES:L) 680, (120)
150 7,600 (€ ME W) 150 5,050 (HE~— 2D : LD LED
) EET) 220 480
200 2,400 , 200 —RER3IA
p—e ‘ EEAEE b
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e| | (RERTE) i t S
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I i 1 KEwY b~ N
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ITHI

LEXEL PUZZLE 42

R LoEIVIRXIL 42 Tk
WERE [747—O0—"7A= S M L Mm MH
5 = # EET [O—5—Fz—VAR 2K (mm) 4,700 5,050 5,300 5,050 5,050
T HTERE [O—>—Fz—VAR 21 (mm) 1,700 1,850 1,950 1,850 1,850
B & T—hEE |74 7—0—"A"K 4F 2,100 2,100 2,100 1,550 2,100
® B HEFE [2.2kW7L—Ff %V—F:E—Q R B® 3F 1,550 1,550 1,550 1,550 2,100
mEh # ERET [0.2kKWTL—Ff =\"—\V—I\"E—7 _ﬂﬁ?% 25 (mm) 2F 1,550 1,550 1,550 1,550 2,100
= WTFREE [37KWIL—FHFr—RE-% 7 JT = 1F 2,100 2,100 2,100 1,900 2,100
T—hEE [0.0kWIL—FHF7—RE-% B1 1,550 1,550 1,550 1,550 2,100
T R AC200/220V =48 50/60Hz | 3.7kW (8.0kVA) B2 1,800 1,800 1,800 1,550 2,100
= " TAC100V ##8 50/60Hz_ [1.0KW (1.0KVA) EE(O) 1,700 2,000 2,300 2,000 2,000
BIERE Sy FINRILGEEA R Eyvbhb&ESL (mm) 4,900 5,250 5,500 5,250 5,250
A=k 28— 95 | 3E-158 | 4E-21& HEAR—ZF0E: Lt (mm) 5,600 5,950 6,200 5,950 5,950
— 5E-274a | 6&E-338 | = D E:P (im) 2,300 2,400 2,500 2,400 2,400
XBEANEAKE. 1 TICEDEARDET, ® BE|IE v b~ EW (mm) [PxEE+400|Px:E#+400|Px:E#+400|Pxi#E%1+400|Px:&E#k+400
HEFRICED . FEESRENE B BENTEVET, 3 E{Ev b F:HoGm | 3,820 | 380 | 3820 | 3.5/0 1 4,670
KERITBRV IR VI EEL T BEVEDECREE N, T A B oHt k] 7,760 7,760 7,760 7,010 8,860
IHNBEOBEKEIOETEDA0ME D ET SELEBERS Homx] 6,060 | 6,060 | 6,060 | 5860 | 7.160
B & & = Hkmkx| 9,880 9,880 9,880 9,430 11,830
BB BR = < - He (mm) 6,500 6,500 6,500 6,300 7,600
A/ B(ke) 2,500,/5,000 | 2,750,//5,500 | 3,050,/°6,050 | 2,750,/5,500 | 2,750./5,500
TEfE C/D(kg) 2,500,/5,000 | 2,750.//5,500 | 3,050./6,050 | 2,750,/5,500 | 2,750./5,500
E/F(kg) 2.500/1,950 | 2,800./2,250 | 3,100./2,550 | 2,800./2,250 | 2,800,/2.250
LIEILICZIL 42 SERE iF D?ﬁ; & 2@; 18~186/18 | 18~187/18 | 18~204/18 | 18~183/18 ] 18~217/18
. - ey e SF[ME /1&am] (7)) | 18~164/18|18~165/18 | 18~180/18 | 18~161/18 | 18~188/18
HEZREADTER. EEMOTECROET, 6 & [ 2F (WS, /18] () | 18~142/18] 18~143/18 | 18~155/18 | 18~139/18 | 18~158/18
BB IR /18R] (7)) 18/18 18/18 18/18 18/18 18/18
Bi[Med /1%4m] (7)) |18~146/18 | 18~147/18 [ 18~158/18 | 18~145/18 [ 18~172/18
B2[mt /#&4m] (7)) [18~181/18|18~182/18 [ 18~198/18 | 18~176/18 | 18~212/18
7,000 CEBHEE 1 W+300) (500) 5250 (Ev hgE L) 680, (120)
150 7.600 (€ k& - W) 150 2 - TED
T ) 5,950 (FER—Z D @ L) I
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3 (FEF /0 : P) zerzva (10 =
& (REATE { S
B NO o
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